
#1 Pre-Calculus – Hustle 
ΜΑΘ National Convention 2007 
 
Let z  be a complex variable, there is a  
solution of 6 1z =  for which z  is in the  
third quadrant (not on either axis) of the  
complex plane. What is this solution,  
expressed as a bi+ ? (where ,a b  are  
real and 1i = − ) 
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#23 Pre-Calculus – Hustle 
ΜΑΘ National Convention 2007 
 
What is the distance between the  
plane 2 3 4 0x y z+ + + =  and the  
point ( )1, 1, 1 ? 
 
 
 
 
 
 
 
 
 
 
 
 
Answer : _____________ 
 
Round    1    2    3    4    5 
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#24 Pre-Calculus – Hustle 
ΜΑΘ National Convention 2007 
 
What is the probability of rolling  
an odd number as the sum of two  
standard dice? 
 
 
 
 
 
 
 
 
 
 
 
 
Answer : _____________ 
 
Round    1    2    3    4    5 
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#25 Pre-Calculus – Hustle 
ΜΑΘ National Convention 2007 
 
Let 2,3,1u = −  and 4, 3, 2v = − − , 

what is ( )u v u× ⋅ ? 
 
 
 
 
 
 
 
 
 
 
 
 
Answer : _____________ 
 
Round    1    2    3    4    5 
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